Rationalizing a Denominator

Rationalizing a Denominator

Original Original
Problem Problem
| I:] this fraction has to
st : : D I:] equal 1 which means
Eliminating radicals from denominators —_— ) ° the numerator and

1 ’ / / denominator must
EI i D 3 D be the same.

Since you are multiplying the original problem
by 1 you are only changing the way it looks
not what it equals.
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this should be the
smallest quantity needed such that when the

two denominators are multiplied you create
something that you can take the root of.



Rationalize each denominator. Simplify if possible.
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Rationalize each denominator and simplify.

13 5= 3> 13T

YR =

, 17O Ny v
49 I 7 s

r

3

24 Ns=_ N ¥%E 24 YEE
R PR EENIC I

S\

Rationalize each denominator. Simplify if possible.
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Rationalize each denominator and simplify.
15 Y= 5% /5y3




Rationalize each denominator and simplify. Assume all Rationalize each denominator and simplify. Assume all

variables are positive. variables are positive.
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Rationalize the denominator and simplify. Rationalize the denominator and simplify.
Assume all variables are positive. Assume all variables are positive.
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Rationalize the denominator and simplify.
Assume all variables are positive.
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Rationalize the denominator and simplify.
Assume all variables are positive.
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Rationalize the denominator and simplify.
Assume all variables are positive.

12./.4/( ) NERYE
4?/-7/\,,17 'TETTER N
&3

B 2tk Yo gk YA RANENE
= . _
ERS 2D

= | Yk

&
Rationalize the denominator and simplify.
Assume all variables are positive.
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You can now finish Hwk # 35
Sec 7-2

DU\E )Dmorrov\r

page 377

Problems 28, 30, 31, 34, 47, 48, 50, 51, 54



